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STAR 19037: Hor 2Gauss fit (set)

%2 / ndf 10.22/9
F 1stMax 1.306e+04 £ 2140
- maxPos 0.01901+ 0.001076
e 1stWidth 0.2172 £ 0.008948
= 2ndMax 3524+ 2104
= 2ndWidth 0.3263 + 0.04145
E constant 19.38+ 32.32
E L
-1 -0.5 0 0.5 1

set displacement (mm)

STAR 19037: Hor 2Gauss fit (meas)

%2/ ndf 6.231/9
1stMax 1.577e+04 + 364.6
maxPos 0.02275 £ 0.001094
1stWidth 0.2532+ 0.002919
2ndMax 853.9+ 3794
2ndWidth 0.4339+ 0.04094

constant 2.779e-09+ 33.79

Xsec =35 mb

|
0.5 1
meas displacement (mm)
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STAR 19037: Vert 2Gauss fit (set)

¥2 / ndf 10.53/9
1stMax 1.3e+04 £ 2649
maxPos  -0.006293 + 0.001143
1stWidth 0.2175+ 0.01109
2ndMax 3412+ 2563

2ndWidth 0.334 + 0.05989
constant 7.461+ 106.7

set displacement (mm)

STAR 19037: Vert 2Gauss fit (meas)

%2 1 ndf 271179
1stMax 1.614e+04 + 228.6
maxPos  -0.007087 + 0.001145
1stWidth 0.253 + 0.002406
2ndMax 350.8 + 237.1
2ndWidth 0.5215+ 0.1094

constant 1.466e-07 + 139.6

K

0.5 1
meas displacement (mm)




PHENIX ZDC

PHENIX 19037_2: Hor 2Gauss fit (set) PHENIX 19037_2: Vert 2Gauss fit (set)
o _ ¥2 I ndf 8.972/9 ¥2 1 ndf 377419
g8 1stMax  1.086e+04 + 6779 g6000 = 1stMax 1.166e+04 + 700.4
14000 — maxPos -0.0018+ 0.001942 C maxPos 0.02227 + 0.002617
r 1stWidth 0.2273 + 0.03987 14000 — 1stWidth ~ 0.2195 + 0.007109
12000 — 2ndMax 1956+ 8211 C 2ndMax 1926 + 731.6
F 2ndWidth 0.366 + 0.4273 12000 — 2ndWidth 0.3662 + 0.02532
10000 constant  1.285 + 1.243e+04 c constant 0.0001233 +259.3
F 10000 —
80001 — 8000 —
60001 6000[—
4000— 4000 —
2000— 2000—
0 E L | 0 E | |
-1 -0.5 0 -1 -0.5 0 . 1
set displacement (mm) set displacement (mm)
PHENIX 19037_2: Hor 2Gauss fit (meas) PHENIX 19037_2: Vert 2Gauss fit (meas)
o _ ¥ 1 ndf 5.417/9 o »2 I ndf 3.087/9
8 B 1stMax 1.09e+04 + 149.8 g e 1stMax 1.214e+04 +659.6
14000 — maxPos  0.005749 + 0.001985 C maxPos  0.02156 + 0.002655
C 1stWidth 0.2377 £ 0.003509 14000 1stWidth 0.2349 + 0.006954
12000 — 2ndMax 2020 + 135.2 r 2ndMax 1417 + 689.1
F 2ndWidth 0.3618 + 0.009341 12000 — 2ndWidth 0.3929 + 0.03589
10000 constant 14.88 + 21.26 C constant 7.27e-06 +279.3
— 10000 —
2000 — 8000 =
6000 — 6000 :—
4000 :— 4000 |—
2000 :— 2000 —
o : L o : 1 L
-1 -0.5 0 0.5 1 -1 -0.5 o 0.5 1
meas displacement (mm) meas displacement (mm)

Emittance: 2.6 mm mrad (ZDC)

2.5 mmmrad (IPM) Round beams:
Xsec: 34 mb +/- 2 mb H=0.243 mm
Lumi = 45 e28 cm”-2 s”-1 V =0.236 mm
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PHENIX BBCLL1

PHENIX 19037_1: Hor 2Gauss fit (set)

Beam sizes:

T
meas displacement (mm)

250

150

60

PHENIX 19037_1: Vert 2Gauss fit (set)

x10° 425.1/10 - x10° 334.3/10

= 2.896e+05+ 5130 3 = 1stMax 2.981e+05+ 4524

F maxPos  -0.001378 + 0.0002398 @ 350 — maxPos  0.02454 + 0.0002027

= 1stWidth 0.2213 + 0.0009666 E 1stWidth 0.2137 £+ 0.000802

O 2ndMax 2.384e+04+ 5224 300 — 2ndMax 2.256e+04 + 4591

c 2ndWidth 0.2999 + 0.007435 = 2ndWidth 0.2931+ 0.007094
0 250 —
o 200
— 150 —
o 100 —
— 50—

- —t 0 —t
set displacement (mm) set displacement (mm)
PHENIX 19037_1: Hor 2Gauss fit (meas) PHENIX 19037_1: Vert 2Gauss fit (meas)

10° 263.1/10 - 10° 240.2/10

3.09e+05 + 1919 3 1stMax 3.173e+05+ 991.6

maxPos  0.003078 + 0.0002496 g =0 maxPos  0.02448 + 0.0002097

1stWidth 0.2348 + 0.0006375 1stWidth 0.2285+ 0.000386

2ndMax 4888 + 1993 300 2ndMax 2585+ 1021

2ndWidth 0.361 + 0.02252 2ndWidth 0.3858 + 0.02916

T
meas displacement (mm)

H=0.227 mm

V =0.219 mm Ratio H/V is the same as for ZDC



Compare BBC with ZDC

350000 1100000
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SO0

220000
200000 400000

12000 13000 14000 15000 16000 17000 18000 19000 20000 21000 8000 3000 10000 11000 12000 13000 14000 15000 16000 17000 1B0OOO 13000 20000 21000 22000
sisScaler,Bo-phenix, 163diffHivaluefndT ine sisScaler,Ba-star, 163 diffMivaluefindTine
=isScaler, Sc-phenix,BrdiffiivalusfindTine ——— -32840,8+19,105% sisfcaler.Ba-star. 1ddiffizvaluehndTime ——— -F384,17+47 ,1358%

Ratio is more or less constant during the store
(uncorrected signals)



Corrected signhals and emittance
from collision rates
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RMS emittance [mm mrad]
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RMS emittance [mm mrad]
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Emittance from collision rates vs
IPM emittance
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